| 2172

A

oz H

4.3%0[04, 65M| O10] 46.8%2M 571Q1-H= LAStH

[mz]

|

EV|S 2OF =AIRIQ] 7

Z

o

—

17+ 2,215

FH[OIH] & MICH (19558 ~1963E%:)

F 221 HO|= MIEH (196413 ~1974E4) 954

O

7t
15121 18.6%) 0|

ke
= O
1]

O
| -
=

[}

L=
|_
H
o

El
F

O
[

(4%
s

2021
705
2

b
|

ol o XM ol ol ¢ ou &l
S WUE g o o O =
%%H&@f RS
G XM o53 RO mommmo
= N H = N g 0l )
N 1o KON o O = 1o
AT T s T - <olo X
oy © © R Jooo <k
o gy By H
~ o & o) o o= 0 ol
= U = o 1o H
= Jm ™ m o_v_._._ o O_m_ me__”_
TR B oK =g
Hoooo Wy o T
- o= N Ho
__ﬁﬂwtwﬂﬁw 7%@
of I B ool o il z <2
= =3 0 oy = =
g g < 2o O
o=l SN N Ho uo
Hooon o X N = o ol X
B0 o Wl N < m af) A Ql
a A EFETs oW _x
X HX AN o oT
Al OF &0 © X < wr = ol
ujo 2 ol mo B0 oMo o8 ol X
[ WuTMW%EﬂI%%E
A Y Rl Fo Mo ol T mE X My
uH,£o N 5 o XMoo oof O
N = MO fu BO < my I T <O
S m om0 WD
<F oy = O T =
. = -, oo - &5 &
= T HEE O
- ™~ He \
= & = 5 & = Uk~ g
K T < X uﬂwo_eﬁﬁv
I ||_.|_|2_.E._m| S o o = -
<l - X %o =
or o roU S o X0y < E
T gr o 20 Ao = d X ol
- 7| __Oll_._._|LLI
= X K o1 O N = RS
= | RO W g © of Ho &
D,o_v W_Mm%oimofu_n_q_ﬂw
& WIS & a W f
K = < o o < 0| od ~NO
= o0 |T_o i< _.__o M_H I_ﬁl =2 X 70 o:_._
ol o E<H BT oo oA
RO T Hop X0 F RN T
5 I 5 & Kok ogp® N T T
ol = H o ®O o & X S NH ol
ol 5 5 ©
30 & N g
%0 ol mp wo
1 |—I6
o] N X Q9
m oo
e = 8 0
1o] )
= = od - do X2 ol
L % goR K
IA R 5 =
= L|L7M
P/m A_ln__l_E.A._
m_ __F%EOA%
ol T ™
O_.E Iy RO i g MO
_ W o & &
rin w8
Bl Bl ® S
gi o4 Mo~
o X F Tl
ww_o_vm._ﬁu
A ,75%
<
= E.___o%;o
3 ol i < qu
X = =
|T—A
O e BlD o
0=
o O T M
O . ol ot < 1
_A o3 BU g U
._A S of T I
WAy ol
o X
- el
<

R (P I

b 2] 25%

= 108 B (2014~20234H) A
AhE A2 684, 78ha, (242

i~y

2
i of
=l

(1
Ol €
A= (forest fire) 2| 3T QA= G2 744
ol

0f
i}

1

-

Z10[
Eo|H|H

Of ALt K7 1N SHEiELe =

[ Alg ke OFZ &417t OF=

=)

gh) 33, 174ha

)

= Al
==

JEENEL

= ol

CHd

FARZ

o}
—

S

7| 225 714, 242ha, (

=
T

f

(S



Y

Ao 2 =E] 20l0| 4

SCH A O]

SRR

IS

ol
p._

ujo
o]

el

ol
0

e

[s]

= A717| %
2o

1

S

ojo)
|-

EEISE
227|201 Lt

HIZO|Ct

=
=

5

Eff= A

“F
JUN

AL

=1

Tju
<
J1

§

=
<0

S}

HCp= o

g 723

1Al

2|

t

7t A0k P2 P20 S WSO 71l At e

=l
__OH_

|

OHG=





